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Finding Oxidation Numbers for Any Indicated Atom

In binary equations, it is very easy to tell what oxidation number each atom has.  For example: 

Al2O3 suggest that Al is a 3+ and O is a 2-.  It is more difficult to determine the oxidation numbers when we are dealing with ternary compounds (compounds with 3 different elements) or with the atoms in a polyatomic ion.  Consider each of the following examples:

	TERNARY COMPOUND
	
	POLYATOMIC IONS

	In Na2SO4 what is the oxidation number on S?

* Must get all the charges to equal 0
Na = (1+) * (2) = 2+

O   = (2-) * (4) = 8-

Without Sulfur, the charge is 6-.  Thus, to get to an overall charge of 0, Sulfur must be a 6+!

(2+) + x + (8-) = 0

x + (6-) = 0    (    x = 6+
	
	In NO31- what is the oxidation number on N?

* Must get all charges to equal the ion’s charge
O   = (2-) * (3) = 6-

Without Nitrogen, the charge is 6-.  Thus, to get to an overall charge of 1-, Nitrogen must be a 5+!

x + 3(2-) = 1-

x + (6-) = 1-    (    x = 5+


Please find the oxidation numbers of the indicated atom in each of the following:

	1. Cr in K2CrO4

	2. S in Na2S2O3


	3. P in PO43-

	4. N in NH41+


***NOTE: Don’t confuse finding the oxidation # with finding the formal charge on an atom***







